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Select one:
a. Yy =Ty
b. oY = Gy
c. TY =5y
d. 2y =8y
Question 2
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Answer:|

Question 3

odooggen Y = T2+ 42° — T goaagbiposcanto as6heogiols gghdes sBeaboblibo, Goageog
st T = Pl ot

Select one:

A Y=z +2Z =Tz +7

by =x" + 3z +4

cy=z"+32>+3

Y=z +x2—4r+2

Question 4
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Select one:
a. e =sinz+c
B 1 o
V=2 - % ke

c P =sinz+c
eV +y=2*+2r+c

Question 5
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Select one:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=cx^8 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= xy'=7y 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= xy'=6y 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= xy'=5y 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= xy'=8y 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= c 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=cx^7 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= xy'-y=12x^7 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y'=7x^6+4x^3-7 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y(1)=2 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=x^7+x^2-7x+7 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=x^4+3x^2+4 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=x^4+3x^2+3 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=x^7+x^2-4x+2 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y'=\frac{3x^2-x}{3y^2} 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= e^y=\sin x+c 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y^3=x^3-\frac{x^2}{2}+c 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y^3=\sin x+c 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y^2+y=x^2+2x+c 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= xdy+4ydx=0 
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a y=cx
b, Y = cx’
— £
C. Yy = xd
—_ T
d. ¥ = =
Question 6
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Select one:
I x
a.y_'T ln|r.'|
b. y = 6°
— Nl
. ¥y=7 - In |$“
4. ¥ =3z’

Question 7
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Select one:
Y=z (c—2)
.y =2 (c—2%)

1 5
c.?ZE'(c‘I'%}

1
d.¥y=z [(c—1)
Question8
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Select one: )
1l (c-a?; y=
1 .

L i=a(c-o) u-
cy=z-(c—z)-1; y=
1 1 T, —
oy=z le=%) y=

Question9
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(:}:2 + 9% + 2x)dr + 2zydy = 0

Select one:
3 3
a. T+ 2zy+y =c
3 2 2 _
b_T—I—r}:y +axr=c
T +2ry—-3y=c
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http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=cx^2 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=\frac{c}{x^4} 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=\frac{c}{x^5} 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y'=\frac{y}{x}-6 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=x\cdot\ln\left|\frac{x}{c}\right| 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=6^x 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=x\cdot\ln\left|\frac{c}{x^6}\right| 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=3\ln x^2 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y'+\frac{y}{x}=x^3, \quad x>0 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=x\cdot(c-x) 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=x\cdot(c-x^2) 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=\frac{1}{x}\cdot(c+\frac{x^5}{5}) 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=\frac{1}{x}\cdot(c-x) 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y'-\frac{y}{x}=x^5y^2, \quad x>0 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \frac{1}{y}=x\cdot(c-x^2); \quad y=0 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \frac{1}{y}=x\cdot(c-x); \quad y=0 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y=x\cdot(c-x)-1; \quad y=0 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \frac{1}{y} =\frac{1}{x}\cdot(c-\frac{x^7}{7}); \quad y=0 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= (x^2+y^2+2x)dx+2xydy=0 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= x^3+2xy+y^3=c 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \frac{x^3}{3}+xy^2+x^2=c 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= x^3+2xy-3y=c 
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Question 10
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Answer:l

Question 11
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(22 —y)dz+ (' + 4+ y)dy =0; p(y) = =

yﬂ
Select one:
N mia_l_zmy_l_yta:c
b. 27+ 22y +Injy| =
2 _ =z —
C. S y ty=c

LT —T+y+hfyl=c

Question 12
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Y=y - Sy+ 8 y=:

£

Select olne:

a.  xy—->5 In |T| +c

b. ;Eyl—ﬁ - lﬂl’]’:| +c
C. _l;z:iﬁ - lﬂ|?}| +c
4 75 =In|z|+c



http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \frac{x^3}{3}+xy^2+x^3=c 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= v(t)=(24t-3t^2) 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= (2xy^2-y)dx+(y^2+x+y)dy=0; \quad \mu(y)=\frac{1}{y^2} 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= x^3+2xy+y^3=c 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= x^2+2xy+\ln |y|=c 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= x^2-\frac{x}{y}+y=c 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= x^2-\frac{x}{y}+y+\ln |y|=c 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= y'=y^2-\frac{11}{x}y+\frac{25}{x^2}; \quad y=\frac{z}{x} 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= -\frac{1}{xy-5}=\ln |x|+c 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \frac{1}{xy-5}=\ln |x|+c 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= -\frac{1}{x-5}=\ln |x|+c 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \frac{1}{y-5}=\ln |x|+c 

